MuhlsteigstraBe 6 - 72336 Balingen - Tel.: 07433 1456-0 - Fax: 07433 1456-50
Mail: info@baumeister-schack.de - www.baumeister-schack.de

& baumeister
B bk & schack

PROFILE ADAPTERS

For lifters T180 and T165

Article No. EZ01686

Article No. EZ01748

Profile adapter VR 60 (0°)

Profile adapter VR 60 (45°)

N,

Article No. EZ01749

1x slot nut EZ01127

1x slot nut EZ01127

Profile adapter VR 60 (90°)

2 x tallow-drop screw M6x10

2 x tallow-drop screw M6x10

1x slot nut EZ01127

1x threaded pin M6x6

1 x threaded pin M6x6

2 x tallow-drop screw M6x10

1x threaded pin M6x6

For lifters T175

Article No. EZ01750

Article No. EZ01751

Profile adapterVR 60 (0°)

Profile adapter VR 60 (45°)

N

Article No. EZ01752

3 x slot nuts 096286F

3 x slot nuts 13440026-01

Profile adapter VR 60 (90°)

3 x tallow-drop screw M6x10

3 x tallow-drop screw M6x10

3 x slot nuts 13440026-01

3 x tallow-drop screw M6x10

For lifters TR126 and 167

B dme e

Article No. EZ01753

Article No. EZ01754

Profile adapter VR 60 (0°)

Profile adapter VR 60 (45°)

N,

Article No. EZ01755

3 x slot nuts 13440026-01

3 x slot nuts 13440026-01

Profile adapter VR 60 (90°)

3 x tallow-drop screw M6x10

3 x tallow-drop screw M6x10

3 x slot nuts 13440026-01

3 x tallow-drop screw M6x10

For lifters Hexalift and 1140

=
¢ 0

-

Article No. EZ01756

Article No. EZ01757

Profile adapter VR 60 (0°)

Profile adapter VR 60 (45°)

N,

Article No. EZ01758

3 x slot nuts 096026

3 x slot nuts 096026

Profile adapter VR 60 (90°)

3 x tallow-drop screw M6x10

3 x tallow-drop screw M6x10

3 x slot nuts 096026

3 x tallow-drop screw M6x10




